3 AT T — NERERI G S X FERE R A 3=
(RERIBA & XA SEak2 744 H 1 H BI(E)

M DX 5 ML X 4 8. A& H X BT854 05 DR &
X R 460 5 -5 A—R~v i Bk i £t
—7F# 2(1) 2,187,415kl| 702,173kl| 2,889,588kl
W T DK il 4 D) HTJER il = &t
Z DA 5 HASEIERY) 28kl 5kl 33kl
PrE TR A, | lE T, 280, L iki] AR H7 i e Bl = &t
e BEVH PR BE A U riv i o, M i 5 e i DI DGR t 5,260t 20,010t
GEmmm e onAsEsso | 10 B E ) AD LB 94,003,558N 1
_ OB ) ( ) 7 £ A LIS D ATRIE A A 2,869,200N i
+H- 5((‘ % " _ - — ) 2
KPR 3 ) ) AT R 24,000t
bEE( 1) (1) . PSSR LS
i |l M SR B S s 5 : :
SR RIS 358 DK Ik X LR PG SE = hasa - -
Hise 2 B - i 9k s
T EIUSR D B2 55 ORI t 13t
%*ﬁt
& _
%EB ‘/‘éﬁ@@“’% _
Bh 1E £ _ {fﬁZ%%@? %TZ%%%E)T
E_%n"@k?@%& B2 P %TB%%%E)T
FER B | sy | AR0SE ET
Az e —NERERI S S Xk i s O TR BRI
B & T OB B2 9 DR A AT PR KBS 12 B9 5205 2l K OB 58 51l
12] BA R 7 ARG )| 13 [ B IR o) U[EET AL 7 DI BRHIFE
N B EGED Z INIE S RED z ame | zof| =
N s |z | o | 3 | N e x| o | ozp | W o E Ly« S ﬁiﬁ g
A B | B | i A5 B | B | i o = AR AR
TFRIA T 1] 13| 14|24mAH 3 6] 18] 27| 100t 2 4 6
TKIDL - 24mlL I T00LL I
e I s I B p e e I B A 500@*@ 0
1FkIEL 34mll k- 500tL
5 T T 8| 22| 37|5ompep| 2| 8| 15 25 1000@@ 5 5
55kILL | 50mlL k= 1000tL
omk | 17 I gomaens| 3 3] 5000tk 7 !
105kILA I 0|60OmLL k|l 14 14| 5000tLL E 6 6
At 31 15| 44| 90| &t 31 15| 44| 90 At 2 0] 22 of o 24




